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1. x°-10x + 21

MU x°-10x+21 = x-3)(x-7)
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2. 6X° + 12X

MU 6X° + 12X = 6x(X + 2)
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3. 6x°-14x - 12

AU 6x° — 14x - 12 = (2x - 6)(3X + 2)
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4, x°>-8x + 16

MU X°—8X + 16 = (x - 4)2
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5. 4x% + 4x + 1

MU Ax°+4x+ 1 = (2x + 1)?
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6. x° - 25

MU x°—-25 = (x+ 5)(x - 5)
=N

e
@ﬁpw
& el \

W




N15UENAIUTENDUVBINNUIUGNSEDS

7. 36x° - 49

MAU  36x°-49 = (6x+ 76X -T)
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X' +14x +49 | | 36X - 16 x* = 2% - 80
X' =5x-24 | | X’ +15x+14 | | X —9x+14
6 +13x-5 | X -9 4%° = 12x + 9
+Tx =18 | | 25X’ +10x +1 | | 6X - 18X

oot
&0
Q




@ fanIsunuINN3a







+

\’ LUNANssy 4 : WYWIUNTS

AFuas Tridneuuenaidsenauvesnvuiunniaasiaguulis

v v v 1
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1| x% + 14x + 49 (X + 7)°
| x*-5x-24 (x = 8)(x + 3)
31 6x°+ 13x - 5 (2x + 5)(3x - 1)
X° + Tx - 18 (x + 9)(x - 2) Y
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174 v X v -1
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5 | 36x° - 16 (6x + 4)(6x — 4)
5 | x>+ 15x + 14 (X + 14)(x + 1)

7| 6x% - 18x 6x(x — 3)
x> — 12X + 9 (2x - 3)?




+

\. LUnaNIsy 4 : WYUINNS

Aduas WiinGeunendausznauvaswyunufnisesiioguulfe
watuiinaslunselviauysal oS
Vo WU AIRBY
0 | x*-9x + 14 (x - 7)(x - 2)
0 | x*-9 (x + 3)(x - 3)
1 25%% + 10X + 1 (5x + 1)?

x? — 2x — 80

(x - 10)(x + 8)\_ Y.
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